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QUESTION 1

A company is installing Internet of Things (loT) devices to support a smart and energy-efficient environment for a
building, including loT devices for heating and air conditioning, lights, and window shades. loT devices of these types
are typically classified as which category of devices? 

A. Nomadic devices 

B. Somewhat mobile devices (SMD) 

C. Highly mobile devices (HMD) 

D. Stationary devices 

Correct Answer: A 

 

 

QUESTION 2

A customer currently has sets of three Aruba 5406R switches deployed for an access layer in multiple wiring closets in a
building They are clustered in a VSF domain The customer wants to set up Multiple Active Detection (MAD) for the
OOBM port, as well as use this port for remote management access. To simplify the connectivity, the customer wants to
connect these three switches\\' OOBM ports to a separate switch in the wiring closet for the OOBM connectivity. Which
would be the most cost-effective solution that would meet the customer\\'s requirements? 

A. 2530 

B. 5406R 

C. 2930F 

D. 2930M 

Correct Answer: A 

 

QUESTION 3

A network architect needs to design a new wireless solution for a small company The architect estimates that about 150
APs will be required to implement a capacity design. Roaming support is required. Also, the design requires meshing to
connect some of the APs to the network. The customer requires that client state synchronization be provided for real-
time failover. Which solution would most cost-effectively meet these requirements? 

A. lAPs in a cluster 

B. FRAPs in a cluster 

C. Two 7205 mobility controller and campus APs in a cluster 

D. Two 7030 mobility controller and campus APs in a cluster 
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Correct Answer: B 

 

QUESTION 4

A customer placed an order for an ArubaOS 5406R switch and plans to rack mount it in a wiring closet. The dimensions
of the switch are 17.5 inches wide (44.45 cm), 6.9 inches high (17.5 cm), and 17.75 inches deep (45.1 cm). 

How many rack units should a customer plan for this switch? 

A. 5 

B. 4 

C. 6 

D. 3 

Correct Answer: C 

 

 

QUESTION 5

What is the main key for a network design to ensure users have a good experience running their applications\\'? 

A. Provision adequate bandwidth. 

B. Provide appropriate AP density. 

C. Determine the number of users per location. 

D. Implement appropriate security controls 

Correct Answer: B 
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